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CBT Sample assessment model answers

Foundation synoptic assessment (FSYA)

Sample assessment 2
Task 1 (12 marks)
[image: image2.png]‘You are planning your work atthe start of the day on Friday of week 4. You are required to attend a one-hour
deparimental meeting at 14.00 and you have also been asked to complete a non-routine petty cash book task
by 10.00. Both ofthese tasks are already included on your ta-do st

(a) Complete your to-do list for today; Friday of week 4. Refer to the management and financial accounts (5 rarks)
schedules and drag the tasks to he completed into the to-do list below.

Note:
You should drag a task into the to-do list mors than once fthe task akes more than one hourto
complete.

Tasks.

Pty cash book 03:00 - 10:00 [Comtact sustomers | [atenal costreport_]
Post chegues 10:00 - 11:00 [Cortectoumiors ] [Fostonemes |
Reconsie statements || 11:00 - 1200 [Costooing | [Processimoices |
Lunch 1200 - 13:00 [Datagatering | [Product costanalysis |
Costeodng 1300 - 1800 [Deparimertalsharges| [Reconcte statemerts |
Deparimertal meeting | 1430 - 1500 [pepartmenta raport ] [arance anaiysis |
Costcoding 1500 - 1600 [Labourcostreport__|

Friday, week 4

You need to arrangs a holiday but wish to avoid taking time offwhen you ars the busiestwith routine tasks.

(b) Identify the week in which you are the least busy with tasks from the management and financial (1 markg
accounts schedules.

e






Task 1, continued
[image: image3.png]The petty cash task in your to-do list requires you to begin by entering a petty cash payment of£31.62
including VAT into the pety cash book.

() What will be the amounts entered in the petty cash book to record this transaction? (3 marks)
Netamount £ 2635
AT amount £ 527
Total amount £ 3162

You must now balancs the petty cash book. The petty cash ook shows a debittotal of £150.00 and a credit
total or£98.67.

(@) What will be the amount of the balance carried down? (1 markg

2 51.33

() What will be the entry in the petty cash book to record the cash withdrawn from the bank to restore (2 marke)
the imprest level of £1507

Amount  po credit





Task 2 (12 marks)
[image: image4.png](@) From the list below, identify FOUR benefits of finance staff at SCM Products establishing good
husiness relationships by dragging them into the weekly buleti

(4 marks)

‘Weekly Bulletin Number 1

|What are the henefits of finance staff establishing good working refationships?

[To buld rust which may resultin better sharing of nformation
o create improved communication channels which may improve eficiency
To develop respect which may assistin resoving disputes

o buld oyalty fram customers which may lead to improved sales,

Benefits:

[To Gevlop sustrmer confdence whish may reauf e remaining sovert._ |

[T0 bl et rpuaton whih iy a3 s Susolers oferng ees redt |

[T craatecormmunicatons iratare o purposs and avays undarsioos |

[foGevelop sunplerconidence and sncre ey i confgerialy |





Task 2 (continued)

[image: image5.png](b) From the list below, identify FOUR actions to help improve solvency by dragging them into the weekly
bulletin, (4 marks)

‘Weekly Bulletin Number 9

[How can finance staff help to improve solvency?

Monitor bank balances and invest surplus funds
Negotiate low inerest rates on amounts borrowed

Obtain creditwhere possible for all expenditure

Pay credit suppliers s lae 25 possible wihout ncurting penalties

Actions:

[Brend e pament s ot ceaitcustoners ]

[Wontor progston ouatio sneure as mary goods as possile are rade |

[Ofer bk aiscoutts o s ot ]

[Purihase anewvetite for use by eroyees ]





Task 2 (continued)

[image: image6.png](€) Identify the FOUR members of staff that would be most effective as part of the project team. (4 marks)

zhe Al Emily Simon





Task 3 (12 marks)
[image: image7.png]{a) What should be the correct amounts of the invoice? (3 marks)





[image: image8.png](b) Complete the entries in the daybook below by:

+ selecting the correct dayhook title, and
+ making the necessary entries.

Tie: Furerases samoor il

17May  |[Dawson Lta DAwaz 1676 186 El 155 155





[image: image9.png](c) What will be the amount paid and what is the latest date by which the supplier should receive (@ marks)
payment?

Amount to be paid  Date by which payment
% ‘should he recefved

180.42 | [27 ay 208K v





Task 4  (16 marks)
[image: image10.png](a) Show the entries needed to update the cash hook by: (4 marks)

* selecting which TWO items will be entered in the cash book
+ showing whether each item selected will be a debit or credit entry.

Enter

ttem
cash book

Debitentry ~ Crecit ents

Central Insurance

Devtin Dunn

Marl Motors

Sunil Ltd

() Complete the hank reconciliation statement as at 30 June. (6 marks)

Bank reconciliation statement B

Balance as per bank statement 11959

[Deviin Dunn v 433

IE

Less

[Gunir Lta v 290

Balance as per cash hook 12102





Task 4  (continued)

[image: image11.png](€) Review the draft email and select SIX errors by clicking on each error. Errors may include incorrect
‘amounts and words wrongly spett, incorrectly used or that are technically incorrect. You can remove
vour selection by clicking again.

From:  accounts@SCM.org.uk
To Shames@SCM.org.uk

Subject  BankBalance

Hello Suki
Following completion of June's bank rekonsiliation statement, | can confirm thatthere are surplus
funds inthe cash account Itis estimated that payments to credit customers are likely to be £3,800 in
July and £3,100 in Septernber. On that basis | would suggest that some funds are currently available
fortransfer into a high interest account

Ifyou require more details of estimated cash in and cash out, please do not hesitate to contact me.

Kind regards

Accounts Clerk

(6 marks)




Task 5  (12 marks)
[image: image12.png](a) Drag TWO appropriate statements to create the introduction to the Corporate Social Responsibility

and Sustainability Report below.

SCM Products

Corporate Social Responsibiity and Sustainability Report

Introduction

(@ marks)

Statements:

being aresponsible husiness and maxmising the
environmental impact of our actviies.

ISCM Products is committed to:

buying goods in a manner that drives positve change within
our industry

being a responsible husingss by enabling the personal
rowth and fulfiment of our staff.

eing a responsible busingss and madmising our Sppliers’
profts

buying materials atthe lowsst possible cost rrespective of
the environmental impact of the materials.





Task 5  (continued)

[image: image13.png](b) Drag FOUR appropriate initiatives into the local community and wider society section of the Corporate

‘Social Responsibilty and Sustainabilty report below.

SCM Products

Corporate Social Responsibiity and Sustainability Report

Our commitment to improving the local community and
wider society.

Initiatives planned that will directly impact on the local
‘community and wider society:

(4 marks)

Initiatives:

Embedding a culture of CPD (Continuing Professional
Development) and training within the workdorce.

Ermbedding a culture of commitment 1o volunteering within SCM
Progucts

Ensuring the organisation uses the mast energy eficiency
delivery vehicles

Faciitating employees’ contrinutions 10 a charity of their choice.

Investing in projects to capture renewable energy sources

Providing apartunities for Staff o wark on raising funds to
rebuild a day cars centre nearto the main offices.

Providing apportunities for the unemplayed o gain work
experience.

Providing interestftee 10ans to all staffwho wish to purchase a
motor car





Task 5  (continued)

[image: image14.png](c) Complete the table below by:
* inserting the budget cost for material and labour cost
+ inserting the variance for each cost
+ selecting whether each variance is significant or not,

Budget report

Budget  Actual  Variance

5 a2 5 Significant

Material

Labour 6250 | 7,208 1045 [ves,





Task 6  (24 marks)
[image: image15.png](a) Complete the table below by: (12 marks)
+ inserting the variable costs for each level of output,
+ inserting the fixed costs for each level of output.
+ inserting total costs for 5,000 units and 7,500 units levels of output,

units g 5000 7500 11000
Variable costs (£) 24000 40000 60000 88000
Fivxed costs (€) 17000 17000 17000 17000

Total costs (€) 41000 57000 77000 105000





Task 6  (continued)

[image: image16.png](b) Inthe box below, write notes in preparation for a meeting you will have with your manager, including:

* abriefintroduction outiining the areas you will discuss

+ an explanation of how fixed and variable costs hehave as levels of output change, using your
figures in (a) to llustrate your answer

+ are-calculation of the fixed costs you calculated in (a) ahove, assuming they increased by 5%
and provide an explanation of the effect of this on total costs

* anexplanation of the effect on the total cost per unit as levels of output increase if fixed costs
increased by 5% whilst variable cost per unit remains unchanged.

Your notes must he sufficiently detailed, clearly written and well structured as they will be a formal
record of your meeting discussion.

During the mesting il discuss the behaviours of fed and variable costs as Ievels of oulpUt change, a re-
calculation of fied costs assuming a 5% increase in costs and the effect this will have on total costs Finally |
will explain the effect of a 5% increase in fixed costs an the total cost per unit as levels of outputincrease.

45 the name suggests foed costs remain constant inespective of the levels of output For example when
3000 units are praduced the fixed costs were be the same as when 11000 units were produced. Variable
osts change dependent upon the levels of output As the level of output increases then the variable costs
also increase proportionately dependent upon the level of output

Fixed costs will increase by £850 to £17,850. As fied costs have increased by £850, total costs will increase
by the same amount.

[The unit costs will also increase as levels of outputincrease although the increase per unitwill rduce as
outputincreases. This is because the increase is spread out over more units





Task 7  (12 marks)
[image: image17.png](a) What will be the entries in the trial balance?

Account name Ampunt Dehit Credit
Drawings 1315
Bank interest recefved 503
Offce expenses 3534

(6 marks)




[image: image18.png](b} Will the opening balance in the suspense account be a debit or credit entry? (1 markg

Debit

Credit





Task 7  (continued)

[image: image19.png]{c) Complete each journal entry by inserti

ting the appropriate amount in either the debit or credit column. (3 marks)

Do NOT enter a zero in unused debit or credit column cells.

Journal to remove the incorrect entry.

Account name Lo Cey
I3 s
Travel 389
Journal to recard the correct entry
Account name Lo Cey
I3 s
Travel 63
Journalto clear the suspense account
Account name Lo Cey
I3 s
Suspense 279





[image: image20.png](d) What will be the entry in the trial balance following the journal entries in (c)? (2 marks)

Account name Credit
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